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The figures in the margin indicate full marks
Jor the questions

1. Answer the following : 1x10=10
were fAATRe ey faa

(a) Define natural growth rate.
FrerRe RIre a9 sy fiy |

(b) Mention one difference between
economic growth and development.

AT RIM 9T SwER TR 9B Ny
Ty '
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(e)
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(2)

Give one example of government failure.

e Reeor «b1 Srree fam |

Mention one characteristic of poverty.

Ao o1 3 BTE 1 1

Define technical. progress.
TS AR ke BT

Mention one difference between Harrod
and Domer model of economic growth.

,@@wswwﬁw&vﬁw%m

ofrefey BrE T

What is relative poverty?

et TREe! & ?

Write one factor that affect economic
growth.

WWWMCWQBIWM|

( Continued )

@

(3)

Define Gini coefficient.

R sr=er sigear famn o
(i) What is social institution?
ST s 2
2. Answer the following questions : 2x5=10
OO 2P e fAl
(a) Write two characteristics of modern
economic growth. '
iR ST R o1 tafiEs
(b) What is steady state in Solow model of
. economic growth?
5'e’3 weAfes Rerr ke Rafie e 2
(c) Write two limitations of PQLI as a
measure of economic development.
stafee TmpeR pe Rt PQLR i
fRze! St 341 |
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(4)

(d) What is the effect of corruption on
economic development?
AT T YA oe) & 2

(e) What is vicious circle of poverty?
wRaeR «Reoe e & 3@ 2

3. Answer any four of the following questions :
5x4=20

S PR R e wifRer e firmn

(@) Discuss how democracy and economic

(b}

(c)

@
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growth are interlinked.
Gy W S Rem el
RS, A A1 |

Write a short note on Human
Development Index.

TR St SRS SO Bl 5 (B fore |

Briefly explain the technique of Lorenz
curve to measure inequality.

Pl YoFE I IO 93¢ @R P
BYLF 3efe 40

Write the assumptions of Harrod-Domer
growth model.

'T-BYRY Rere =R SfSuRermz s |

( Continued )

(S)

(e) Discuss the concept of balanced
regional development.

Y ST ST YRG! S I947 |

() Explain the role of state institutions in
economic development.

PR ST TS Rl SPER B
e T

4. Answer any four of the following questions :
10x4=40
To AIEART R @ wikbR Tae fan

(@) Explain Solow’s model of economic
growth. What is the impact of technical

progress on steady state? 8+2=10
vy SRS RerE WG qfw w0
Fufie srREre (e Tafy srem f 9

() Discuss the economic and non-
economic factors which influence
economic development of an
underdeveloped country. 5+5=10

G TIHS (PR TLART BTS2 ¢orgaTRy

QAT wWF S-S %"ITWFFFR
SICATO=T 90|
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(6) (7)

( Explain‘ the vario.us methods  of (h) Write short notes on the following :
measuring poverty. Discuss how poverty 5x2=10
can be removed. 5+5=10 S ot : :
wRzer W T AW @ewR TR " °
TR (W @ IR MR, I ] (i) Determinants of democracy

Aol e

(d) Write a note on inequality axioms. (i) Knife-edge equilibrium
Discuss the relationship between
inequality and economic development. R4 ST

5+5=10
el FerE ¢ 9ol G o1 spRer *hk

e AT SaEad TE 0 10 |

(e) Explain the endogenous growth theory.
e ReEreg TR 9 |

() Explain the various alternative
measures of economic development.

Ao Sare Rfon R ToPHR 3941 41 |

(9) Discuss the international variation
among different measures of economic
development.

QRAT T TP &S BB 2w
T T

A25/219 ( Continued ) A25—5000/219 3 (Sem-5/CBCS) ECO HC 2




